Maths Week 7

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.












Thursday 7th May 2020
 Please click on this link for more information- https://www.bbc.co.uk/bitesize/topics/zp8dmp3/articles/zcrq2p3
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Four Operations

1a. Which coins would complete this bar
model?

1b. Which coins would complete this bar
model?

£0.60

£0.80

You can use coins more than once.

xire)

You can use coins more than once.

, 0000

2a. Complete the bar model for the
problem.

Casey has £12. She spends £1.50. How
much does she have left?

2b. Complete the bar model for the
problem.

Hashim has £22. Affer he has visited the
shops, he has half of his money left. How
much did he spend?
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3a. Calculate the missing numbers:

x 5 = 45

£1.75 + = £2

% .

3b. Calculate the missing numbers:

£50 - = £24

x 30p = 90p

= .

4a. The table below shows the enfrance
prices for a Science museum.

4b. The table below shows the enfrance
prices for the Sea Creatures Centre.

Weekday | Weekend Weekday | Weekend
Adult £8 £10 Adult £15 £22
Child £4.50 £5.50 Child £7.50 £10.25

How much would it cost for one adult and
one child fo visit the Science Museum at
the weekend?

% .

How much would it cost for an adult and
a child fo visit the Sea Creatures Centre
at the weekend?

e .
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5a. Which coins would complete this bar
model?

5b. Which coins would complete this bar
model?

£1.10

£3.60

You can use coins more than once.
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You can use coins more than once.
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4a. Complete the bar model for the
problem.

Emma has £24.50. She spends £3.75 How
much does she have left?

&b. Complete the bar model for the
problem.

Lesley has £36. After he has visited the
shops, he has a quarter of his money leff.
How much did he spend?
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7a. Calculate the missing numbers:

+ £2.65 = £5

8 x = £2.40
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7b. Calculate the missing numbers:

£10 - = £3.82

+ 10 = £0.20
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8a. The fable below shows the enfrance
prices for the funfair.

8b. The table below shows the entrance
prices for the zoo.

Weekday | Weekend Weekday | Weekend
Adult | £15.50 £18.50 Adult 217 £21.25
Child £7.75 £9.25 Child £9.50 £12.50

How much would it cost for one adult and
two children to visit the funfair during the
week?

w

How much would it cost for two adults
and two children to visit the zoo at the
weekend?
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9a. Which coins would complete this bar
model?

9b. Which coins would complete this bar
model?

£2.48

£10.45

You can use coins more than once.
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You can use coins more than once.
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10a. Draw a bar model to show:

Rosa spends £4.86 on a birthday present,
78p on wrapping paper and £1.55 on a
card. What s the fotal amount spent?

10b. Draw a bar model to show:

Corbin has £48.80 fo spend on a parly.
He spends five eighths of his money on

food and a quarter on drinks. How much
has he got left o spend on decorations?
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11a. Calculate the missing numbers:

= £3.60 + 9

6 x =

%

11b. Calculate the mi

ing numbers:

£12.87 = - 399%p

+ £456 + 584p = £20

e .

12a. The table below shows the enfrance
prices for the theme park.

12b. The table below shows the prices for
frain tickets.

Nov - Mar | Apr - Oct
Adult £1585 | £25.85
Child £8.99 £18.99
Famil

oatandalugen | 45 85

“Railcard users | 07.00-09.00
benefi from hall and All other fimes
price fickets. | 16.00-18.00
Adult £8.75 £6.40
Child £4.35 £3.80

How much cheaper s it for 2 adults and 2
children o buy a family ficket than buy
separate tickets during May?

%

How much does it cost for 3 adults and 4
children fo fravel at 2.30pm it one adult
and one children have a railcard?

* .





